


































































85.1 Cost Area THEDEFINITE INTEGRAL

Cost

MARGINALCONVARIES
ESTIME TAALCOST IN BATCHS
OF 100 CASES

Banat 188Iiiins ease 1100cases 800
BATCH 2 6.23 DOLLARS CASE x 100CASES 623
BATCH3 4.92 Dollars CASE x 100CASES 492
BACH4 4.07 Dollars CASE x 100CASES 407
BACH 5 3.68 Dollars CASE x 100CASES 368
BATCH6 3.75 Dollars CASE x 100CASES 375 t

3,065

Banat TEE'soliins case 1100cases 800
BATCH 2 4.92 DOLLARS CASE x 100CASES 623
BATCH3 4.07 DOLLARS CASE x 100CASES 492
BACH4 3.68 Dollars CASE x 100CASES 407
BACH 5 375 DOLLARS CASE x 100CASES 368
Bala6 4.18 Dollars CASE x 100CASES 375 t

2,693

BOTH SUMSARE ESTIMATESOF THETOTAL COSTOF GOO UNITS

ESTIMATESWOULD 64BEENWITH MORE SMALLER BATCHES

GRAPHICALLY THIS WOULD PRODUCE MORE NARROWER RECTANGLES

WHICH WOULD BETTER ESTIMATETHE AREA UNDERTHE MARGINAL CON CURVE

THE EXACT COST OF THE 600UNITS IS THE EXACT AREAUNDER
THE MARGINAL COST CURVE





































































DISTANCE

TRAVELLED OVER S SECOND INTERVALS

me
on

momma

VELOCITY
DISTANCE

INITIALVALUE

0 5s 25ft s x Ss 125ft
5 10s 31 ft s x Ss 155 ft
10 15s 35ft s x Ss 175ft
15 20s 43 ft s x Ss 215 ft
20 25s 47 ft s x Ss 235ft
25 30s 45ft s x Ss 225ft t

1,130ft
OURESTIMATE IS THESUMOFTHEAREAS
OF THESE RECTANGLES

THEEXACT DISTANCE TRAVELLED IS THE
EXACT AREA UNDERTHEVELOCITY CURVE






















































AREA

ex CALCULATE THE AREA UNDER THE CURVE Y X ANDABOVE THE X AXIS
WITH O E X E l

i
4 subwtervaLS I I O I

I
I a E

it
Is z

I 3 I

The Total AREA IS THE SUM OF THE AREAS

UNDER THECAVE ABOVE EACH SUBINTERVAL

A A Ant AstAy

WE CAN APPROXIMATE THEAREA A OF EACH VORTICAL STRIP AS THE AREAOF A

RECTANGLE WITH BASE I
AND HEIGHT EQUAL TO THE HEIGHT OF THE CURVE AT THE RIGHT ENDPOINT

OF EACH SUBINERVAL

V64

A E I 464

iii Ay a 1 y Yay
x

A A t AstAstAy
A Ey t Ey t g t 34
A 20.46875 overestimate CALL THIS Ry

https://www.geogebra.org/m/nmw6Dhdk

https://www.geogebra.org/m/nmw6Dhdk



ALTERNATIVELY WE COULD HAVE APPROXIMATED THE AREAOF EACH VERTICALSTRIP

AS A RECTANGLE WITH BASE 4 AND HEIGHT EQUAL TO THE HEIGHTOF THE

CONE AT THE LEFT ENDPOINT OF EACH SUBINTERVAL

A I 10 I o

A 1 51 64
464

o i

A Kia

Ay a 4 t 964

A A t AstAstAy
A o t Ey t Ey t 4
A 20.21875 UNDERESTIMATE T CALLTHIS LY

YET A THIRD WAY WOULD BETO APPROXIMATETHE AREA OF EACHVERTICALSTRIP
AS A RECTANGLE WITH BASE V4 AND HEIGHT EQUALTOTHE HEIGHTOFTHE
CURVE AT THE MIDPOINT OF EACH SUBINTERVAL

A 8 I E
A 1851 Es
A 18514 E
Ay 18714

0 E E E
A A t A t As t Ay
A E I 156 t

6
t 44 Eg 328125

https://www.geogebra.org/m/nmw6Dhdk

https://www.geogebra.org/m/nmw6Dhdk



Mine GENERALLY

INGENERAL HERE IS HOWWE CAN CALCULATETHEAREA UNDERThecurve y f x
ABOVETHEXAXIS AND BETWEEN THEVERTICAL OWES X a x b

Fslineakabweons
to X X X x2 X xn Xn

a b

EACH WITH LENGTH AX b

THEN APPROXIMATETHE AREAOF THE ITHSTRIP BY A RECTANGLEWHA WIDTH DX
AND HEIGHT F Xi WHICH IS THEVALUEOF F AT THE RIGHT ENDPOINT

Titus THE AREAOF THE IF RECTANGLE IS FXi AX THIS ISCALLEDA

1
RIEMANNSUM

THESUMOF TAEAREASOF THESE N RECTANGLES IS

Rn fix lax fields fix Ax t FAN AX



THEDEFINITE INTEGRAL



a let y VIT Note THAT y 20
Then y I X i.e X't y 1 y 0

E area Ine E
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